
ME 465 - Fall 2001 Homework #2 8/29/01 
 
Due:  8/31/01 
 

 
Sketch the series of transformations for all 5 problems using both the “right to left” and “left to 
right” interpretations.  Use a scale of 1 unit = 0.5 inches (or more). 
 

Test the final transformation for all 5 problems with 
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1.  Use a1 = 2 units,  θ = -45 deg,   b1 = 4 units 
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2.  Same transformation as #1 above, except θ = +30 deg 
 
3.  Use θ = 90 deg,   a1 = 3 units,    b1 = 3 units 
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4.  Same transformation as #3 above, except θ = +30 deg 
 
5.  Use θb = 45 deg,  b1 = 2 units, θa = -45 deg,  a1 = 4 units     
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